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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2015

Subject Name: Industrial Engineering

Subject Code: 2TEO41EN1

Semester: 4 Date: 24/11/2015 Time: 2:30 To 5:30 Marks: 70
Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Branch: Diploma(Mech)

f)

9)

h)

Attempt the following questions:

Work study involves

1. Only method study 2. Only work measurement
3. Method study and work measurement 4. Only motion study
Which of the following wage incentive plan is applied to all workers?

1. Halsey plan 2. Gantt plan

3. Emerson’s efficiency plan 4. Rowan plan

Acceptance sampling is used in

1. Job production 2. Batch production

3. Mass production 4. All of these

Gantt chart is used for

1. Inventory control 2. Material handling

3. Production schedule 4. Machine repair schedule

Which of the following chart is gives simultaneously information about the
progress of work and machine loading

1. Process chart 2. Machine load chart
3. Man-machine chart 4. Gantt chart

What is the full for of SQC?

1. Standard quality control

3. Standard quality committee

Which chart is used for micro motion study?
1. Outline process chart 2. SIMO chart

3. Flow process chart 4. Man-machine chart
Identify a technique of S.Q.C.

1. Frequency distribution 2. Time study 3. Just-in-time 4. kaizen

Which chart is used to control attribute quality?

2. Statistical quality control
4. Statistical quality committee
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1. Variable quality chart 2. P-chart 3. Range chart 4. Specification chart
T.Q.C. is part of technique of

1. Re-engineering 2. Kaizen 3. Total quality management 4. Six sigma
Principle of six sigma is based on

1. Statistics 2. Arithmatics 3. Algebra 4. Geometry

Which chart is used to control variable chart?

1. P-chart 2. C-chart 3. X-R chart 4. Pn-chart

What is productivity

1. Input / Output 2. Output / input
What is standard time

1. Basic time + allowance

3. Rating + allowance

2. Work content + other allowance
4. Observe time + allowance

Attempt any four questions from Q-2 to Q-8.

Attempt all questions
List and explain factors affecting on productivity
Explain procedure of work study

Attempt all questions

Name the techniques of work study

Calculate standard time from the following data. And also calculate total number
of pieces to be produce by turning in 8hrs. shift
Loading time: -1.62 min.

Turning time: - 6.14 min.

Unloading time:- 0.68min.

Inspection time:- 0.46min

List and explain symbols, which are used in flow process chart

overall rating of cycle:- 110%
overall allowance:-10%

Attempt all questions

Explain questioning techniques

What is difference between cumulative timing and fly back timing
Draw the symbol of

1. Search 2. Find 3. Select

Attempt all questions

Explain the factors affecting on reliability

Give the difference between quality control and inspection
write three application of histogram

Attempt all questions
Calculate mean & standard deviation of the detail given in following table

Hardness 250-254 255-259 260-264 265-269 270-274

Frequency(f) | 20 135 175 155 15

(07)
(07)

(03)
(04)

(07)

(07)
(04)
(03)

(07)
(04)
(03)

(07)



Q-8

N

N

Explain patterns, which are generally obtained in control charts

Attempt all questions

10random samples were taken from the pins produced on a lathe. The diameters

are measured as under. Find upper & lower control limit for X- chart and R-chart
and draw control chart Take A, =0.729, D3=0, D,=2.282

1 2 3 4 5 6 7 8 9 10
148 | 149 | 148 | 150 | 146 | 16.1 | 152 | 148 | 149 | 149
151 | 146 | 149 | 16.2 | 151 | 147 | 151 | 154 | 159 | 16.3
150 | 152 | 152 | 149 | 153 | 149 | 153 | 152 | 155 | 148
149 | 151 | 153 | 147 | 148 | 151 | 151 | 149 | 145 | 153
Explain concept of process capability
Give the full form of following
1.1QL 2.LTPD 3.AOQL
Attempt all questions
Explain total quality management
Write a shot note on zero defect.
What is the concept of six sigma
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1. UA 2. s155 3. RQAse
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Hardness 250-254 | 255-259 | 260-264 | 265-269 | 270-274
Frequency(f) | 20 135 175 155 15
Sl AULE UL AHLeL A el Hadl Vol AnsaAl (09)
Y.-9 o{lAell sttt Yslloll wellol Aull.
As A UR Gauleol Al Ulalletl oLl [(R2inel 12 s e [gal (09)
2629 Il AUl vl B Al Aoll call o{lA Yool UM el
GURell Ual o{lAe{l (A2ixtel 2wl NA Wal X- ULE W R-AUE ENRA.
A,=0.729, D3=0, D,=2.282
1 2 3 4 5 6 7 8 9 10
148 |149 [148 [150 [146 |161 |152 |148 [149 [149
151 [146 |149 [162 [151 [147 [151 [154 [159 [163
150 [152 [152 [149 [153 [149 [153 [152 [155 [148
149 [151 [153 [147 [148 [151 [151 [149 [145 [153
YA QAR @D gsHi uHestal. (0%)
o{lAatl oll YA olld M. (03)
L. 1QL 2. LTPD 3. AOQL
Y.-C o{lAell sttt Yslloll xellol vl
2lecd sAlAll Ralyoe UMl (09)
ARA SlEse (AN s olll AWl (0Y%)
Rset RoHL @AW gsHi ALl (03)
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